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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed: 1x7=7

RpIE Feae REes Tee s

(a) ‘Assessment Year’ means the period

starting from 1st April ending on of
the next year. (Fill in the blank)

SR s 9 (IR Il @fte e
s SR ST 2 % 90! 9259 it
G A | (AT NZ 7979 F9)
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(b)

(d)

(e)

The year in which income is earned is
known as Assessment Year and the
year in which it is taxable is known as
Previous Year. (State whether the

statement is True or False)

051 T2 w1 e 591 2 O SERE I 9
e Y RS Tee Sl 2 O SiaS] I
@R (Gl w7 @ TuT G 79)

Under the Income Tax Act, 1961, what

is the status of Dibrugarh University
as a ‘Person’?

IR BIi%, 1961 Sipi, e oitst feare
e sefw & 2 2

Tax liability of an assessee depends
upon his/her residential status.
(State whether the statement
is true or false)
I S [ Fiel (S8 AT TF@
e et fss w3
(Cfeth) wa (o srm Gyl 1)

Agricultural income is taxable under

section 10(1) of the Income Tax Act,

1961. (State whether the statement

is true or false)

RS o, wiwes @izm 1961 10(1)
NSIRIACIEE (e DTl

(Cferch! wa o srom g 391)
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(f)

()

Section 48 of the Income Tax Act deals
with income that is exempted from tax.
(State whether the statement

is true or false)

SITEE TIZ 41 48 G SR #1578 Thew

R@R e 9|
(Cf&ehl ©% o 9% G 39)

Agricultural land situated in a rural
area in India is a Capital Asset.

(State whether the statement

is true or false)

SeIE G IS IREe RS ‘e
e (T 8% 7 su5 Gy 31)

Answer the following questions : 2x4=8

O

(@)

(b)

IRk (GISSRC S A TR

Explain the meaning of long-term capital
gain.

RO JAGN SIS o g 9= |

State the meaning of uniform previous
year as per the Income Tax Act, 1961.

S SiZA 1961 SR ‘Grnel Sdaet I
wref ferl |
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3.

(d)

Answer any three questions:

Define ‘Assessee’ as per the Income Tax
Act, 1961.

SR SIE 1061 SRR iy e T RS
ferain |

State the meaning of income.

IRERCRATE

5x3=15

Rzt fofor e Tea frell ¢

(@)

Briefly explain various heads of income.

o f[ifen Remam vy I 0

Explain the manner of determining the
residential status under ‘resident and
ordinarily resident’ in India.

QAR S TS A TGRS ITE
s Ry sam ~mafe e 01

Explain the meaning of ‘income from
other sources’ as per the Income Tax
Act, 1961 with any three examples.

1961 51 SRS Sgd SR SR SO
o1 IRI SI-3 AL I 1 = TR RIcpIea
fofab! el faal |
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(d)
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Mr. Anil Barua is the owner of a house
property which is let out by him at a
monthly rent of Rs. 10,000. The
particulars of the house are given below :
1. wfae <= 9ol 959 e R/est & wicege
10,000 B o et | 9ibE oy Reaermg
ﬁ i:ai .
Municipal
Valuation (MV)
(T e
Fair Rent (FR)
T Sl

Standard Rent
under Rent Control

Act (SR)
S CRCEEARIESE
SRS Ao Sl

Fire Insurance (@) Rs. 600 p.a.

Rs. 1,30,000 p.a.

Rs. 1,10,000 p.a.

Rs. 90,000 p.a.

Municipal Taxes Paid 10%
iss=ACIGH

Determine his income from house
property for the assessment year

2021-22. 5

2021-22 T MR T AR JDTIes =iy
mster |
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(e) For the Assessment Year 2021‘22,

Ramesh is non-resident in India, From
the information given below, find oyt
his income chargeable to tax for the
Assessment Year 2021-22:

2021-22 F=iat 999 A 6 SSTHs (o
SRR | oo fudl ©AR A€, 202199
R <29 T S'eT T S [l gy .

(i)  Royalty received by him outsiqe
India from the Government of Indig
Rs. 17,000

T b #idl Sied AT Al Trafhy

(i) Technical fees received from P. Lt
(an Indian Company) in Germany
for advice given by him in respect
of a project situated in Dubaj
Rs. 2,40,000

TARS SRIFS 6T FH AT ST gy
AW P. Ltd (5 SO FI=AM)T ofy
e eie 2igfeere Age)

(i) Income from a business situateq
in Sri Lanka (goods are sold in Srj
Lanka, sale consideration ig
received in Sri Lanka but business
is controlled partly in Sri Lankg
and partly in India) Rs. 1,40,000
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ANerre ST JPNAT 2[1 S (HeTzre
7 f@) o9 @ 9% Aewices [RawEn
e 28, 8 TNy Fagd 9 =
wiPEeiE ATEE [ o SRS
oo 7<)

(iv) Income from a business
connection in India (it is received

outside India) Rs. 3,17,000

Tiqod FM0 IS A T S 2
i (TFed TS 2i)

Answer any three questions : 10x3=30
Rzl fofanr exR Tes Tl

(a) What is a capital asset as per section

(b)

2(14) of the Income Tax Act, 1961 ?
Describe the procedure of computation
of long term capital gains as per the
provisions of this Act. 5+5=10

wIEEE Sied 19619 Il 2(14)-9 Nre sEErn
{6 B =@ 2 O iz Raw SR dsyim
e OiEe e RS T <5

Sitaram (age 45, resident) is a salaried
employee (salary being Rs. 40,000 per
month). During the previous year
2020-21, he makes the following
investment deposits or payments :
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4

ToRm (9771 45, B GEH (@SS
O (TR W 40,000 F1) | 2020-21
S o (Seq Rl &l A SR TS
e e eifes

fi Life insurance premium (policy
taken in 2009) on the life of his
married daughter: Rs. 6,000/-
(sum assured is Rs. 20,000)

Life insurance premium (policy
taken in 2011) on his own life:
Rs. 2,700 (sum assured
Rs. 60,000)

Life insurance premium (policy
taken in 2011) on the life of his
dependent sister : Rs. 10,000

(iv) Contribution towards recognised
Provident Fund: Rs. 9,000

(v) Contribution towards public
provident fund: Rs. 1,30,000

(vi) Repayment of loan taken from LIC
- for purchase of residential house
property : Rs. 30,000

(vii) COr}tribution towards notified
equity-linked saving scheme of UTI

i.e., MEP 2021): Rs. 14,000
Compute his Tax liability for the
ssessment Year 2021-22, assuming

that his inc :
ome from house property 18
Rs. 2,28,900 5its Rt 10
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S RAREE (2009 B (=T (967
Zaifeel I A@ 6,000 T (TS
& 20,000 T)

(i) e A SR (2011 BTS CARI)
e 2,700 5 (SFS T30
60,000 5F)

(iij) ST SAIETE AR SR (201 1
5o ¢ @S 10,000 T '

(iv) Trpe oRw {E AT 9,000 T

(v) public Provident fund-¥ 3
1,30,000 Bl)

(vi) TR a8 Fsfie A Lic
sl @ Ad AR 30,000 ch a

(vii) UTIR Notified Equity-linked Saving
Scheme (MEP 2021)3 <it3
14,000 Bl

(Seq G 79 9 2,28,900 B 4fRa
0021-22 F&RT 7€ AR (Se Ta-et Fefy
sl .

From the following Profit and Los
of Sudesh Bhosale (Age 45 Years-sr%gfgsntt
for the year ended on 31st Mar’ch 20;1)
ascertain his Gross Total Income for the
Assessment Year 2021-22 : : 8

A (OMER (I 45 =g, AP 31 WE
2021 SIff4S SERI IZIBIF o1 Fal Fre-
i B 7Y (P8R 2021-22 R
7efq Y o e e
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Particulars Amount |Particulars Amount
() (Rs.) (5 | (fR=ael) (Rs.) (51)
Salaries 26,800 |Gross Profits 6,91,000
) 2 =i
Bad Debts 44,000 |Commission 36,600
AR 4 T
Prepaid Rent 4,000 |(Brokerage 74,000
TN g ol
Insurance (q71) 1,200 |Sundry Receipts 5,000
General Expenses 52,000 fifd4 4fiY
e 45 Bad debt Recovered 22,000
Salary to Sudesh Bhosale 1,02,000 |(earlier allowed as
%‘? eER deduction)

7l 7 ST, 4
Interest on Overdraft 8,000 (Sii7fe FOF ()

@ €S T Interest on Debentures 76,000
Interest on Loan to wife P19 @790 T©
of Sudesh Bhosale 84,000
o (SPIER TR AR
oo frdl 7o
Interest on Capital of
Sudesh Bhosale 46,000
o (O Je14ad
TS
Depreciation 96,000
B
Advertisement Expenditure 14,000
R@lo <5
Contribution to
Employees’ Recognised
Provident Fund 26,000

RIRINGI ke

v R
Net Profit 4.00,600
59 7S
Total 9,04,600 |Total 9,04,600
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Other information:

el ©L :

()

(1)

(itt)

()

(v)
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The amount of depreciation allowable is
Rs. 57,000 as per Income Tax Rules

S I SREeCAIs SRS A
57,000 B

Advertisement expenditure includes
Rs. 3,000 being the cost of permanent sign
board fixed on the office premises

e wes FelRl i T ([RH ([16) 49
3,000 B9 RR@loM T STILE (AR

Income of Rs. 3,08,700, accrued during the
previous year, is not recorded in the Profit
and Loss Account

oo 2 (511 TES W 3,08, 700 Tl EIS-(=ITHH

Rple TEge @ AR

Sudesh Bhosale pays Rs. 15,000 as
premium on owil life insurance policy of
Rs. 70,000

70,000 G e G Tl AR esre o

COAGE 15,000%%(%%%)qu
&

General expenses include Rs. 12,000 given
to Mrs. Sudesh Bhosale for purchagmg 2
gift for a marriage party of a friend’s
daughter
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GG IgI I [FAF i UAR @ F9 AE
&S ol coriE Mt 12,000 51 AR 4369
ATrs TBEE (2 ST

(vi) Loan was taken from Mrs. Sudesh Bhosale
for payment of arrears of income tax

SIS S0 COPTCETT #/F1 e (FR1 (=2 I3 SRR
v i A

(d) Briefly explain the basic rules governing the
deductions under section 80C to 80U of the
Income Tax Act, 1961. 10

ST Wiz 19619 4191 80C< 7@ 80U T ©
FOACIIRE F19S TT© &1 NHER FALCHCH 1] 540 |

(e) Explain the process of setting off of losses
and their carry forward as per the provisions
of the Income Tax Act, 1961. 10

NPT WE 19611 RATHE SPIR @5
setting off SI% (F2(AR[T carry forward-3 “&fe
ARG 4 |

(f) Write short notes on the following :

5+5=10
O5TS [MAEIRT @2/ b3 (GIel &4 :
() On-line filing of returns of income
SIS iSO Setier mifereel

(i) Tax deducted at source
TS T T4 9
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